202 14FE NoSHRM60mMm70mRx 25 15p [ERHSHERE AkiE]
DEBEER 215 ERWAAEY-FIU-5  TE: NPOEA BRIIEV-FIU-HE 2022/03/2084E
8 HWEMY-FIU-HE

«RC60%zF»

% A [ SEmR Gl 60mO[60m[#&:T | 10 | X "=
1 [ KH B I 303 | 328| 631] 21| 6
2 | EFE TEE [ACHE 293 265 558 6| 2
3 [1Em & FEE |ACHE 294 | 241| 535 11| 3
«RC605BF»

] FhaER R 7= 60m@[60mQ| @A 10 | X 3
1 |feH 2 BREd | \LTFm/—FI-e 240 | 270| 510 5] O
«RCE&F»

] WERR] = 70m@|70mQ| BA&5T| 10 | X 3
1 |AR T2 BHE |[BHE/—FI-H=a 329 | 323| 652 27|11
2 (BE1E A HR/E EESR 318 309 627 | 17| 6|10&%#:17
3 [ER B FiE EREAEAE 315 312 627 | 10| 6 ]|10&%#:10
4 | KT &HIn BEE |BEBAEEER 313 312 625 | 13| 2
5 | mREr |FE BAKBEAT 313 | 310 623] 16| 2
6 [ PE BEx FE HARB AT 311 | 311| 622 15] 2
7 B B= FE BAKRE AT 299 | 309| 608| 12| 5
8 [MAf & BRE | KEX7-FI-HE 306 295| 601 16| 5
9 [KH ®mF B|RE  |TUNATE— 292 | 307 599 | 8| 3
10[4EITT —E BFEE |EEFRREER 297 289 586 | 11| 5
11|E A =571 N == 1= e S B 280 | 293| 582 8] 2
12|8K BF AR|NE [BEaR 279 | 298| 577 11| 2
13| R BT BRE [ LRR7—FII-Ha 281 290 571 12| 2
14(H%F &F HE/ R | FEAEMNEIERESEER 269 293 562 | 10| 4
I5[5R A= FiE BEXF 280 280 560| 8| 3
16|=4 =k RRE | B AT RESHE TR 265| 281| 546| 6] 2
17|5F BHMF |&ER8 |IUNHF=- 266 | 279 545| 5| 1
18|82 BT BRE | \EFmr—FI-Ha 274 | 265| 539| 8| 3
19|R9%y T HR/E [EESR 261 275 536 6| 2|10&%:6
205K =5 FiE L=p S PN 257 | 279 536| 2| O[|l0&%:2
21| TE&H 28 |[0RE B AFNEiRe 5 TR 260 | 271 531] 6] O
2|k &I |[BRNE|[1J3-X 253 | 257 510| 8| 3
23|EH FE E St HAKBEKXE 258 244 502 8| 2[10&%:8
24|=E B BRE |[EAXV—FI-Ba 256 | 246| 502| 4| o|10&%:4
25|A%E R HRE [RBAX7-FIU-HE 226 261 487 4| 2
26| & TEE |(eh/—T1)- e 215 | 262 | 477] 8| 1
27 |[EH && HR/R | RERXEABIEESEER 225 242 467 4( 1
28|[KIE Z HR/R | RERXEABIEESEER 235 223 458 41 0
29|18+ =8 #E) B [RBAENBEESEER 228 | 205| 433 2| o
30|k FEZZ HR)|R [EEEREEEER 212 215 427 31 1
310 BE= ARE [RBAFNBINRSZ TR 196 | 227 | 423| 3| 1
32|/t FLE HR/ER |REXFMABEESEER 185 | 201 386 2] 1
33|HER FEFE HR B [EEEREEEFIR 176 168 344 2] 1
34|k BEoH* HR)E [BAEREEEFR 172 171 343 ol O
35| T 8 FALE [FREEREETT- 0 0 o o O|x®
36|5H =14 FE HAFB AT 0 0 0| O] O[|X&E
37|EMR # i ERAXRE 0 0 0 0| O|xE
38[EE R FhE HAREKBEKXE 0 0 0 0| O|RfE
39|FE HIN AR |RBAZNEEESETER 0 0 o o O|x®




202 1€FE

No5#ERTH60M70mRX 233 18P

[RARHETE AIHE]

NGRS 25 . ERRELERT-FIU-% FE: NPOZEA BR/INBE7—FI)-Hs 2022/03/205HE
F8 . #EEhT7-FIU-He

«RCBF»

N il 70m@[70m@[#&=T [ 10 [ X "=
1|[XKE % P EIIICRE Sy anspi N 332 333 665 29| 7
2 |BE #%th E35 BAKB KT 323 | 337| 660| 23| 8
3 [ Kpg —t =RE | RREV-FI—EH 328 | 322| 650 22| 8
4 (IUA {5 RBRE |BRAEABXE (#HE) 320 321 641 | 23| 4
5 At BX BEE |LtRmy/—FrJ—as 313 | 325| 638 19| 7
6 | Bk 3] HAAS AT 323 | 311| 634 16| 6
7 |85 BEKX FiE HBEAF 317 316 633 | 18| 4
8 [InF ZFx BEE |[KBs7—Fi-Hma 308 | 322| 630 14| 5
9 [T Efi HEE |BEBRMAEER 318 307 625| 18| 4
10[=H o< FE HARBRT 303 319 622 14| 2
T EIREES = bR A 300 | 313| 613] 16| 5
12|70 E’X RS [)\R7—F1U-557 302 | 309| 611 8| 5
13(PEME EHE FE HARAKBEXE 2901 319 610| 15| 4
14|/H HE X2 (EAERARETR 296 | 310| 606| 11| 3
15[ = ] E [EBAFN B S S TR 298| 303 601 | 12| 1
16|38 fL& RS | B EBarE 291 | 308 599 15| 5
17|18 =% BEE | KB7-FIiV-H= 287 309 506 | 10| 2
18|EO i ERE |[EREV-FI-Ha 302 | 293 595 11| 1
19K M2 BRE [ 7-FIiV-t%kRett 2901 302 503 | 19| 3
20|72 = ERE |[EEXT-FI-HE 284 308 592 10| 1
21| T8 =X RS [BBAFN B R 5 TR 291 | 299| 590 11] 4
22 |fam R EmEs | TUNAT=— 290 | 299| 589 12| 1
23 (1A EH HR)E [ BaEER 283 301 584 12| 1
24|=K S RS [BEER 280 | 294| 574 9| 3
25|% B=R FRINE [BRaR 2771 2931 570 9| 3
26|%RH B& BB |10 —X 263 | 298| 561| 8] 1
27|14 R%% M) E [aEESR 282 | 272| s54| 8| 2
28|FRE HEA BRE |N\EFHR7-FI)-He 277 270 547 71 2
29|11 EfE =R# ([N\EFH7-FIU-He 276 | 270| 546 10| 4
30(hE X BRE |HHEFEPEREFER 261 283 544 71 2
31K E2rE |[RE R ReEe e TR 274 262| 536 7] 3
32| LA BEI* |[ARE [(EaAEReaETR 265| 269| 534 5| 3
33|ILE BFk e [(EEESI5) 264 | 264| 528 8| 3
348 =B N [EAEREEETR 263 | 263| 526 6] O
35|EH BE HE [EBAFNBERSE TR 254 266 520 7| 4
36[EH Z=m HNNE [fBaEm ) —FI e 254 | 250 504] 3| 3
37|FH &= BB [HEERSEEER 244 245 489 2] 0
38| X% oA HR)NE EBXECAEEESEER 253 229 482 31 1
39| RH7E FEE [BRH/—FI)-Ha 226 | 218| 444 2| 1
40 (e a1 FEE ([frar/—Fi-Hme 222 215 437 6 1
41 ¥l a~T RIS BB AT B IR = 7R 195 | 235| 430| 4| 1
42|55t 1&E HR)NE [ EBXECAEEESEER 207 221 428 1] 0
43|=F 1FiE /B EEEREMEEESEER 203 179 382 1] 0
44| KB & A HR)NE [ EBXECAEEESEER 140 172 312 ol O
i e N EAIE  |NITEBERRAT 0 0 o ol o|xF®m
46| L5 =AE* BEE | KXKE7-FIi-H= 0 0 0 o O|xE
47|18 = FEE |[MvI7ATEREHt 0 0 ol ol o|xiE
48[=TF IsR RRE |=EmT7-FIV-iHs 0 0 0 O O|xE
49|%FM BB |E=RE |TUNHTI— 0 0 ol ol ol|xE
50| & RS [J\R7—F1U-757 0 0 o o o|xiE
510 &= RIS [N —FTI—D5) 0 0 0| O] O[|X&E
RIERI 25 |[0E [BEER 0 0 o ol o|xF®m




2 02 14FE NoSHRM60mMm70mRx 25 25p [ERHSHERE AkiE]
DEBEER 215 ERWAAEY-FIU-5  TE: NPOEA BRIIEV-FIU-HE 2022/03/2084E
8 HWEMY-FIU-HE

«RC60%zF»
2 A EhERTIR 7= 60mO[60mQ[#@&sT| 10 | X =
1 | KF 25 Et R 324 | 329| 653 2710
«RCLIZF»
Zm__ [WEmR mhm 70mO[70me[#&T [ 10 | X "=
1 | AE F=2 BHE |[EHE/—FI)-—me 323 | 326| 649 2312
2 |ER B FiE BREHEKXE 315 314 629 | 17| 5
3 | XE BT E=RE |TUNHATE— 315| 308| 623 13| 1
4 |BR = 258 BEXY 317 | 305| 622 14| 3
5 [hA 4% BREd | AHEX7—FI)-me 309 | 309| 618 19| 6
6 |—JHF BN |F= EIENE 301 | 310| 611| 14| 4
7 | AT HIH FEE [EEBREEER 311 297 608 15| 1
8 [0 750 ERE |[EREV-FI-Ha 301 | 302| 603 10| O
9 |[ARA R HR/E [BEFREEFER 299 289 588 11| 2
10/ —= BEE |(BEFREER 308 277 585 11| 2
11— JF HDD  |nEl  |[B DBk 285 | 2871 572 7] 2
12|E% 2 35 BERF 277 | 283 560| 15| 5
13K =5 E3JE =l N 279 278 557 5] 1
14|58 BT BrE [[LRNX7—FIU-Ha 282 | 254| 536 8| 3
15|15 BF* |BExEs  |ER7—FI-Ha* 271 261 532 5| 1
16|Fe2 T Rl |\LFmh/—FI-me 268 | 262| 530| 6] 2|l0&%.6
17|=ZE #E BB [EEERESEEFER 267 263 530 3| 0]10&%:3
18|&E BilF |&=Ex®E |ITUNHF=— 262 | 263| 525 5| 1
19|=/E &= BRE [ERX7-FiU-He 256 263 519 71 2
204 =M% FRE |HARBATHESETR 261 | 244 so05| 7| 2
21| =2 R 2 B R m S TR 263 | 233| 496| 4] O
22| ARH T |2 |EEAR7—FI-Ha 243 249 492 5| 1
23|AE =R HRE | EARI—FI-mE 234 | 255| 489 3| 2
24| AT 1B ELE |[[ERSEEREET Y- 0 0 0 ol o|xfE
25|EMl # E St =F PN 0 0 0 0| o|xE
26| BH = FiE HAAKEKXE 0 0 0 0| O|xfE
« RCBF» 1/2
T % 70m@[70me@ | #&at | 10 | X =
1|[X8 & ) [ BRI = 341 | 336| 677]| 35] 10
2 |BAF fLK )82 | EEE R 323 323 646 | 22| 9
3 |3K #iK =35 BEAF 317 | 324| 641 21| 6
4 |1iE B 36 RIERF 314 | 323| 637 20| 4
5 [IF Zx BEE | Ks7-FiU-H2 317 | 317| 634 19| 5
6 =1 =R BEE |BEBiAs TR 321 | 311| 632] 13| 3
7 | X —#i =RE |[RREV-FI)EH 310 | 320 630 20| 2
8 |ILUA 1& BERE |HAREBEXE (BE) 307 321 628 | 14| 3
CREAITNE 5 ]S [J\R7—F1U—557 307 | 320 627| 15| 4
10[KRN &% HRE | BRERER 303 320 623 15| 6
11[A A BEE |LDem/—Fi—an 316 | 304 | 620 16| 3
12|78 & 35 RIERT 303| 312 615| 13| 5
13|78 EX BRE  |EEXI—FI-HBE 307 | 305| 612 17| 2
14|/ XA E=REd | TUNAT— 305| 302| 607 16| 3
15|58 &= BEE [KE/—FIi-H= 303 299 602 16| 5 |102%:16
16|FH EE AR R RERE e E TR 301 | 301| 602 11| 5 [|102&:11
17|00 Bk ERE |[EBRE7-FI-Ha 296 | 306| 602 10| 3|102%:10
18R B BB  |EAa/—Fi-Haatt 294 | 301| 595| 13| 3
19|/iE HNE HRED  |ROFRMASHT 296 297 503 12| 4
20(/TTE 1FE@ HRE  [N\EFmI—FI-He 294 289 583 14| 5




202 14FE NoS#RMH60M70mRx 235 2 5B [RARHETE AIHE]

NERELER =15 . BERBESARY-FI1U)-15 FE: NPOZEA BRINEF—FIU-1HE 2022/03/20F31E
8¢ WARMV-FIU-1Bs

«RCB+F» 2/2
% FhaEm e & 70m@[70mQ| BA&5T| 10 | X 3

21|=H % TEE |[BRoaf/-Jh—5Lh 201 | 288| 5/9| 10| 1

22| HZE A& T* BR#  |[/hEeHT-FIU-Bs 271 303 574 7] 3

232X FHH MR [EEER 296 267 563 8| 1

24 |7 B HR/E [EEESR 284 275 559 11| 3

25 (7R JEA BRE |[\EFHI-FI-HE 281 276 557| 8| 1|102%K:8

26|5kH B FRINE [1US—X 288 | 269| 55/| 6] O[l0%%.6

27|ER &f7 BR# |EEmI-FIV-HE 278 | 275| 553 7| 3

28|3AA F%E2 BEE |[BrEEEE7-FiU-He | 252 299 551 4| 1

29(HE K HR#E  |EZEEREREER 288 262 550 5/ 0

30|#iE IBA MR [BAEREEEFIR 281 261 542 6| 2

31[Ee E& FTEE  [JA-—A v oBRaAL | 250 | 288| 538| 8| 3

R2|EH =T HRE | TRAR7—FI-Ha 246 | 277 523 7| 2

33[tH £= HR)NE [wAEEhy—F1-ths 256 266 522 41 1

34| LA EAX ARE [Be¥Es757 246 | 273| 519| 8| 1[|10£%:8

35|58 & BZINE [JX7—F1I=557 249 | 270 519 | 7| 1[10&%:7

36| A = EHE |P=/—F1)-75)*% 227 | 227| 454| 6] 1

37|58 G2 HR)E [BAEREEEFIR 155 197 352 0| O

38|%[R LA W/ HBABREREER 179 146 325 1] 0

39|58 1htE FEE [(Byrar7-—FIi)-s 192 0 192 1| 0 |&¥=iE

405 F HR ERE |DEmr—FI-HE 0 0 o o O|x®

41|%FH B B5 |=med  |[LUN hr=—— 0 0 0| 0| O|x®

2(HBE & FEE ([bvI7 ATk 1t 0 0 0 0| O|xE

43|[AH Fth* FTEE |[FTERPESREE 0 0 0 0| O|&RFE

44| 57 =Ag* BHBEE | KB7-Fi)-H= 0 0 0 0| O|xE

45|k 5L BHE  |NM/EEEARRSTT 0 0 0 0| O|&RFE

46|NE = BRINE [)\R7—F1U-557 0 0 o o o|xiE




